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For the equq\on x +y - 4x- 6y 3= O do the
following.

(a) Find the center (h,k) and radius r of the circle. \
(b) Graph the circle. i // > Lo )
(c) Find the intercepts, if any. _ o) *"‘ /

/

/!

(Type an ordered pair.) VL (,,

Ao AL PLUML PLAL SULIVIL g VUL ap i ¥V L7 pPLILL L atll

(a) The center is ( ’)L L’( /'
o 8
The radius isr= . \5_

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The intercept(s) is/are

2}

7 ” . - +
(Type an ordered pair. Use a comma to X % X —t 7 o C’ 7

separate answers as needed. Type
exact answers for each coordinate, using
radicals as needed.)

B. Thereis noPtemept

(23)X Rk (Z(V))”f7 7
Answers 1
4X_VX,(‘_()7?‘( —r(
i x +Y F 1
KE—<x+9 -,/_i 69 T 7 <

((—2 (x=2) j( D

Z
] T=6 + 9

N
e
(o]

= 3 rewr ke

"y
1= =24

/6

T(y-3)(v~})

ST 4
() s (L) TR
cal i 5)2
< 3 + ¥ 7

(1797 -y “f/J--f) e
(2, 3)

\\‘. L ‘1 _r"

\,__.J._, o B e et S

10 B £ 4 2 ~2—4 6 8 10

A. The intercept(s) is/are (2-+7,0),(2+47,0),(0,3-243),

(0,3+243) .

(76 =

a ,:7

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each

coordinate, using radicals as needed.)
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ID: F.4.27

3. Find the domain of the function.

f(x)= 1/2x -6

The domain is . (Type your answer in interval notation.)

~
Answer: [3,00) i /H""Z\ N

usasic .
ID: 1.1.59 LR s A

/@,/ = (/2§ 7@~m

A 20—~6 = o0 Mt AxrEBZ0
X = 6

G
= =
( 2%
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4. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x)=5x+6; g(x)=3x—-4 -r)//x'j = -

/\ 7 )T
{j x’f(/ o+ (31— )=

Simplify your answer)

(f+g)(x) =
= S vl ¥FIX—Y¢% , ¥
What is the domain of f+g? Select the correct. cnwglom‘r}ud ,j necessary, filli ; x-te-complete your

choice. C’ZG

' A. The domain is {x[ o b ["" ///3// N . ~ B

(Use integers or fractions for any rw/mbers in the expression. Use a comma to separate

answers as needed.) 94/ P /“ (,c) —

B. The domainis {x| X is any real number}. v

) Find (f+g)(x).

(b) Find (f - g)(x).
(f-g)x)= (Simpli

What is the domain of f - g2 Select.
choice.

A. The domain is {x| 3 /(5( 9 ,0{) <
(Use integers or fractions for any numbers-inthe expression. Use a comma to separate
answers as needed.) _(’:;// C/ /’.?/; 1./)

B. The domain is {x| x is any real number}.

/5L —2oxX 1 ({4 Ly~

(c) Find (f + g)(x).

(feg)(x)=

What is the domain of f+g? Select the correct chojce below and, if necessary, fill in the answer box to complete your

hoice. - ;
choice )&(/Z- 7 SN =,

A. The domain is {x] S~ v = ST ey
(Use integers or fractions for any numbers he expression/Use a comma to separate } o
answers as needed.) /()'{L A T

 B. The domain is {x| x is any real number}.” =

f
(d) Find [EJ (x).
o )
g (x)= -

What is the domain of — 7 Select the corr hmce be w and, if necessary, fill in the answer box to complete your

choice. L/) ff'(//"f 4
27 2.
A. The domain is {x fﬁ) (tf/

(Use integers or fractions fo umber&m r'ate
answers as needed.) /7, /)/5,/ & f&v 4/93

R Tha damainia ol v ia anag P

4of23¥,\\_1/_\_¥_____,—.\_ o~ N T 31192020, 6:56 PM
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(=) = 2x7r-

Find (f+g)(4
(e) Find (f + g)(4). #,_,}/(L 2 2 () 7/~

f+g)4)= a,[l- integer or a snmpln‘“ ed fraction.)
() Find (f - g)(2). =2 (z) = Y7/ —
RS
(f-g)2)= ' d.f:acl_lgu:fl W
(9) Find (f+g)(3). (F<o/pd = [SX &2~ LV o
(feg)(3)= (Type an integer or a simplified fraction. )

(] /7//3/Z/>’(3/ —U(3)—¢
(h) Find (EJ (1). ( j/ (5) i /5// gj/g) - 2// . _
(3)o- 2 L B LS (T — 23y

oras:mplrfed _on)
_-_)j(}):/ —f <
Answers 8x +2 /5/(3/ 7 /2. Zr-ZL/
B. The domain is ’ﬁ,ﬂhymrnum er}.

_5}{ —\\_. //5__..f
(3) /95

B. The domain is {x| x is.any realnumbery. o \
15x% - 2x-24 ( )// - é;élé
—<y

B. The domain is {x| X is any real number} -

5x+6 /)/ )(f,)‘f(

3x-4

A. The domain is {xl } 6(| %ﬁl ))(/ )S; ; ¢

(Use integers or fractions for any numb xpre ion. Use a comma t{separate answers as needed.)

; @f)m L

105

2x+10

-1

ID: 1.1.67

5of28 3/12/2020, 6:56 PM
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5. f(x + h) = f(x)

Find the difference quotient of f; that is, find h , h#0, for the following function. Be sure to simplify.

f(x) = x° - 6x+6

f(x + h) - f(x) _
—==

Answer: 2x+h -6

ID: 1.1.83 7//,{/ )Cl‘"é)("”:g
/é(fr%) feo _

N—

/()(f/) G()(—‘F/)’f‘ér_)—___(—/_(_r(i/“ﬁ() _
I ™

h)(eh) —6x-eh T —X HL=C

h :
‘ —-C/-—-Jévi(v'“/cff/“‘é

7

)('ffzxk-f/q G —6h—E xlri e
—_— b

zxéf+h“%4

T ,
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

A ‘!_- /
s —
‘)('/MLI | - )( ML/M% i L’/U/WL YN /J/‘ o A
(a) What are the(mtercepts" ; . éILLVb(/ 174« £ J (lu‘\ L( l\
uu\

M (2 d) (O /) k ?Hu N 1//;«2 l:wbb:f:ft): /\l{l\\l
J

(Simplify your answer. Type an ordered palr Use a comma to separate answers as needed.)

- ( .
(b) Thegamainis___j__zj . ('/;,/_( /r/)4¢/( & A\(l 5 c/%

(Type yo answer in interval notation '
rangels O_/ Z] é Cé&%}'y’ mp l
(T e yolr answer in interval notation.)

(c) On which intervai(s) is the graph increasing? Select the correct choice below and fili in any answer boxes within
your choice.

A. The graph :{lnc}é;gmg on [// ()] [:Z 3:(

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is(déc.:;eaﬁipgon [ 3/ a fj é C"/ ¢ J
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notatlon Use a comma to separate answers as needed.)

! TB. The graph is not constant on any interval, ~ .

(d) The functionis (1)

(1) « - odd.
even.
Qﬁ{either odd nor even.

7 of 28 3/12/2020, 6:56 PM
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Answers (- 1,0),(2,0),(0,1)
[-3.3]
[0.2]

A. The graph is increasingon [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [~-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID:1.3.25

8 of 28 3/12/2020, 6:56 PM
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7. The function f is defined as follows.

4+2x ifx<0

f(x) =
X2 ifx=0

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The{domain of the function fis | "‘?{‘:‘5 {'?(i/l —— //"4) v Lf )
(Type your answer in interval notation.) . :

'\
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. )(_ l’\Lui;,)/} /.
o \ } I -—J' g & C.:uf 4

A. The gqgc_:gpt(s)’isfare- ""2/ 0) @/ L) M.,/ —~ 19 Lo /;
ers

(Type an ordered pair. Use a comma to separate ans as needed.)

B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

(d) TlLeﬁ‘ﬁﬁé‘ﬁﬂthefunctionfis — = (}’7/,/ é—A é’"?‘%"ﬂ’)/ ﬁﬂ)

(Type Your-answer in interval notation.)

Answers ( -~ 00,00)

A. The intercept(s) is/are (- 2,0),(0,0) . U = ‘ AN
(Type an ordered pair. Use a comma to separate answers as needed.) {, 7 J/? /\ e ) \
( / C~ /
" "“/
A s el
(~o0,00)
/2w W«/‘_q____
ID: 1.4.37 \\ _ V2SN
— — — y— Circly !
(‘?l ‘79 / — - Pt (7

< v, =¥ f===*()(D 0 ) Closi Cired /

9 of 28 ~— __3/12/2030, 6:56 PM
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(@) F(x)=f(x) +3 (b) G(x) =f(x +3) (€) P(x)= - f(x)

1
(d) H(x) =f(x+2) -1 (e) Q(x) = Ef(x) (H a(x)=f(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.,

((d) Choose the correct graph of H(x) = f(x +2) - 1 belowh ﬂ JU __ ;‘»
S S A A2 3 o
/A \‘\5 . f—— —4\ D.

,,\,f'l‘y

10 of 28 3/12/2020, 6:56 PM
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1
(e) Choose the correct graph of Q(x) = Ef(x) below.

11 of 28 3/12/2020, 6:56 PM



Lestlam s 14005prmgaviu-Aliredo Alvarez nttps://xlitemprod.pearsoncmg.com/api/v I/print/math

Answers

ID: 1.5.63

12 of 28 3/12/2020, 6:56 PM
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9.
(a) Graph f(x) = lx— 3| - 4 using transformations. M
(b) Find the area of the region bounded by f and the 10
x-axis that lies below the x-axis. 3.
(a) Graph f(x). 1
(Use the graphing tool provided to graph the function.) d'_
24
(b) The area of the region bounded by f and the x-axis , )
that lies below the x-axis is square units. ——T——T———————— ’ r r >
(Simplify your answer.) 0w B4 20 SR
e
=
i
2

Answers

{/‘ 1 L'" -7 ’L

A0 8

ID: 1.5.81

Z/QT)L-“" ""5/ »

13 of 28 3/12/2020,.6:56 PM™
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10. Find the zeros, if any, of the quadratic function using the quadratic formula. What are the x-intercepts, if any, of the
graph of the function? : 1 .
, rewss Le
—  p ety e—1 7

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

f(x) = 8% — 1+ 4x

(O A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

O B. are .

() €. Thereis no real zg{ro solution and no x-intercept.
K = Tt e e— |

-1+43 -1- ﬁ
Answer: A. The zeros and the x—mtercepts are the same. They are

a=¥, bLe ‘“—/_ |
: f/‘“)‘foﬂ Ggw/ f/“““’”L

&

$‘;ﬂ—2212 s

(- Lt D

14 of 28 - - ) e 3/12/2020, 6:56 PM
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/

’ 7

N,{)L)f
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\// For the quadratic function f(x) = X2 +4x - 5, answer parts zujw

(a) through (c).

(a) Graph the quadratic function by determining whether its 12
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8
Does the graph of f open up or down? - 4-
i X
O uwp 20 6 2 -8 4 {1 4 8 12 16 20
) down e
=

What are the coordinates of the vertex?

The vertex of the parabola is
(Type an ordered pair. Use integers or fractlons for any 164
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

) B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(2 A. The y-intercept is
(Type an integer or a decimal.)

) B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis .
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

ic AlarraacinAa

16 of 28 3/12/2020, 6:56 PM
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"__‘__ = % _ . /5 7/(‘/ U(—‘:"’(. -a-“
Answers up D )
7 - S .Z “ t,/ #7 ‘) 5 al

(-2,-9)

x= =2

A. The x-intercept(s) is/are
(Type an integer or a decimal. Use a comma to separate answers as needed.)

__-A-They-intercept is -5 .(Type an integer or a deci

(- 00,00)

[-9,00)

[-2,00)
(-00,-2]

ID: 2.4.37

Tof28 {_\_,// 3/12/2020, 6:56 PM
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-

- "
12. Determme@out graphmg whether the given quadratic function hawum value or a mlnlmu //alue and
then find the'value..— ¢, . t Lhe Stom 1> (3e feg [1/ /,/

«
f(x) = - 3x° + 30x - 3 O/ s Cl""‘—‘ 9 Sv 7 o k}h o @\/’

Does the quadratic function f have a minimum value or a maximum value?

(O The function f has a minimum value.

(O The function f has a maximum value.

What is this minimum or maximum value? ?fx:} - }X C o 20 /\/ n 3 ‘\\\\
\

(Simplify your answer.) ( a i g L A 2 ;,)_ C - __)7 \\\‘

Answers The function f has a maximum value. = —— /_ B - g
72 wy = Voly / L
Py = Votre - / % (%)

ID: 2.4.59 Verley :.‘/“f’(';&’} /\ﬁ(-?u,)\ \
) ! sy

l/'e//t/ g / =g ’ // :g—//
-6 J 1 | ;
Vo= (S,  FCO)

Veloe = (f ~3(e)" ’f;J/J\)’-})
Verle, = (s ~30)(s) 350 =2)
1/ I« (S- —2(2s) + % (s)—7)

(/J/!/x--: /g"/ VAN A —?)
Ve ley = (¢ 75-3)
Verley - (s, 72)

@/
18 0f 28 T N 3nwuesem
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oo

13. Find the verticgl, horizontal, and oblique asymptofes if any, for the following rational function.
\\// R A Zv%b"‘v - o
*y e

~ 14x \ =
@f_//t ur /((/\7 \
X+4 e -
C ﬂ/‘// C X ) {*V”’V S4nyd
Select the correct choice below.and fill in any answer boxes within your choice. / ﬁ\
= —Q/

O A. The vertical asymptote(s) islarex= _
(Use a comma to separate answers as- needéd')'

(O B. Thereis no vertical asymptoLVf’/‘# (e { Z 57 "‘"/ //l( /,/: Y D\V/K;/

-

—

k_x_\-,
Select {hé correct choice below and fill in ny 7 answarboxes %%urm’ ”\ S W

5"’ ' \-.\;\
(O A. The horizontal asymptote(s) is/are y = Q/? X/ / )(

(Use a comma to separate answers as needed X’ -f ‘/ =l
() B. There is no horizontal asymptote. o - M
/7()/!-%.-—1'({( Ct 54 A« A
Select the correct choice below and fill in any answer boxes w”( hin your choice. / L) "= y’ // e ;,3
O A. The oblique asymptote(s) is/are y = B B . ‘/) = / V)(
{Use a comma to separate answers as needed.) / 3<
(O B. There is no oblique asymptote. (7 . VA%
Answers A. The vertical asymptote(s) is/are x = -4 /
(Use a comma to separate answers as needed.) 7 —_ / ‘71
A. The horizontal asymptote(s) is/are y = 14

(Use a comma to separate answers as needed. )

B. There is no oblique asymptote:———

( Arizoatd ﬁb;w;y/z//(

\.__.__E_?—-{ji— _“’6’ mj/ﬂ.\ﬁ&\ — /-m\’}(c\ :-:_*1_
;‘/'4( { A /4/$—L /’M// aq ’féif/ /S OZK/ §c,%\_
C‘5 '/Z“ A‘)Arj/ //’Lo// N /4/ é//%/“ﬂ

//4,&/? '714/// av+ »7s O L /7c4 4’57&:/[

——— —

19 of 28 3/12/2020, 6:56 PM
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14. For f(x) = 5x + 3 and g(x) = 6x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog
(@) (fog)p) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o f)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domainofgofis {x | }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o f is all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis { | 3
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o fis all real numbers.
(d) (gog)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgogis {x | b
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed. ) = _l
(> B. The domain ofg o g is-all-real murvibers. — AN ¥ f
,g(/; f,(,f 3 ad 7(}<)< b X ‘
(Fo9)6d -
//’/ 9 t/) )
Al 6x<) ~
SC6x)13 - J O M e~ I
C 33 (e J

200008 e s e gt g . 3/12/2020, 6:56 PM
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777 3\~ o

Answers 30x + 3 é(/__ Xt 3 ﬁ\,/ j ({) -6 x.'
B. The domain of f o g is all real numbers.
30x+18 ) (C/# )6(

B. The domain of g o fis all real numbers. J( # l)

25x + 18 j(5(¥'§)

B. The domain of f o f is all real numbers. - - J . o
. G ($4+13)= 7y
X

 B. The domain ofg o gsallrealnumbe@;‘ GQ&/ /)()//
ID: 4.1.23 /:L/'- 5)(—{—'?\ ed V}(:()- 6 X

6[0 f/}x/ A‘(’s:w& /J-Jc% j\
£( /) h
A x3) =
S(sxr3 )t 37

Ly st (/C[Jw% |
LT A,

(ﬁ”./)/)(/ /X//’ 55(—14)7 sl j(x)
9 569) =

5(60
G 6x) =

21 of 28 3/12/2020, 6:56 PM
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4 }

) _ ,

/-The function f(x) = 8x - 4 is one-to-one. _ Ty
~ (a) Find the inverse of f and check the answer. ~

(b) Find the domain and the range of fand f . 1

(c) Graph f, f~ ! , and y = x on the same coordinate axes.

S
— ,3_

@f 0=

(Simplify your answer. Use integers or fractions for any 1

numbers in the expression.)

b 2

, _ , 20 16 12 -8 4 1 4 & 12 16 20
(b) Find the domain of f. Select the correct choice below 4]
and, if necessary, fill in the answer box to complete your ]
choice. 2]
-1 _,:.:
A. The domainis {x|x= 3 \
161
B. Thedomainis {x|xs |8 \
20—- , |
C. The domain is {x|x# 3 \
D. The domain is the set of all real B, /(/ /
numbers. %,.(/ . Z Y \
Find the range of f. Select the correct choice below and, if _ )( . g/ \'.
necessary, fill in the answer box to complete your choice. ‘,Z fL{‘ v == .
, vV ;
A. Therangeis {ylys b ) 77 ——'L/ /(/5/ \
- MRS — - . < |
B. Therangeis {yly> : >( = '
C. Therangeis {yly# } ' )( — C / - ‘ |
D. The range is the set of all real numbers.

- ~—
Find the domain of f . Select the correct choice below )('// ({
and, if necessary, fill in the answer box to complete your

choice.
A. The domain is {x|X?iE } I
B. The domain is {x|xS _ }
C. The domain is {xlx2 } o
D. The domain is the set of all real (
numbers.

./’
Find the range of f ! Select the correct choice be'lﬁwénd.
if necessary, fill in the answer box to complete yourchoice.

A. Therangeis {ylys }.
B. The range is {y|y# >
C. Therangeis {ylyz 7 }
D.

The range is the set of all real numbers.

-1
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x+4
8

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbers. ﬂ

_- 1 .
o

ID: 4.2.53
—

4 ¥ S5 3 3; 77

16. Solve the equation. & )(/ﬂ/'/},m ’ 1 )X/ /'
R ' e
) R s

The solution set is { }

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
Kt 3 7'

. _ N
Answer: 12 /& - (_( Z_

16

—¥X+/3¢ < /7o< Y

~G 1 E 18 - D132 ‘(.
""([é/\/ = 7%"/32, /62 Z‘Z~Z;1 /-’"i oy

TIX=TX T TH-(34 -7x @@>

—/x _ ~/3L

'__,//

ID:4.3.73

—/f T
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17.  Find the domain of the function. X N
9(x) = In (x +6)

The domain of g is a SRS —————

(Type your answer in interval notation.) Q X 7"6 . ’/;,..
Answer: (- 6,00) /_’;__;é' ;_:' N =
A ﬂ"“‘h\—"
- -6 4
ID: 4.4.39 g \g w1 o :S
o ,f/ == e
18. Solve the equation. " ‘6/}4""&‘ é ) - Y
5 -0 4,
log ,(8x+5)=4 \Uuéﬂ / J2 i~
s d ;
Change the given logarithmic equation to exponential form. 2 Cf_: 5 )<+ - VW (1
(Type an equation. Do not simplify.) 2/.‘ Z ) ’2 i Z’ - 5 )(_(, S———’

The solution set is { b / (1 - 5 )(_f -

(Simplify your answer. Use a comma to separate answers as needed.)

G —<¢ zdFv— ¢
Answers gy 4 5 = 24 / - 7

11 //:/X

iD: 4.4.91-Setup & Solve —

- 19. The formula ( l - Cﬂ-'_o“{—z; — N a
. O b |
-0.1h 2 C

D=20¢ s

can be used to find the number of mlli‘“raﬁﬁb of a certain dmg@twfs in a patient's bloodstream h hours after the
2

drug was administered. When the number of milligrams reach e drug is to be administered again. What is
the time between injections?

The time between injections is hour(s).

(Type an integer or a dec:mal rounded to two decn'nal pta s as needed.)
26 & oh 23002 $75053 - /
Answer: 23.03 ﬁ

2014 Z23.01c¢ o
z /) O“
/ ,76/"' "0&/4

A e

K(op) = = /4 /// D ot
PA /,/) - —0“/4 // ( |

250628 T, | - =0/ 3/12/2020, 6:56 PM
— e —— N SR T =

L 4

ID: 4.4.125
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20. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

log[x(x+2)]// ‘./u/(x/(/rr()) — [O) ()(+ y)7 .-
(x+4)° Z:})[/\//'f(c) (X/Z) — (,0)()(¥$j 7_“

2
log [x(x ) )} ___(Simplify- your-answer.)——

L T L o5 + tos( Xt L) — T Los(Kre) )
x

ﬁf’lm‘l’ gswer Iog x+ log (x +2) - 9Iog(;:4_)“_-_v_\‘

é@)/ ’fédjﬁ/\ (0)(:/@_,) / é'{”j (A D[Uj ) ‘ )
K__ ID: 4.5.51 éu}, 54/._(4,4){/’/ (c/, =

21. Solve the Iogar|thm|c equation. _ é()j [ )() / / 3) / r( o 4

log x+ log (x-3)=1 « 2
\ AT
Determine the equation to be solved after removing the logarithm.

/0 X//G—-s)

(Type an equation. Do not simplify.) / -4
o- x'-2«

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { }. C) /\/ : ))/{/ =

(Simplify your answer. Type an exact answer Use a atosep answers a
needed.) ? [ )ﬂ

() B. There is no solution. /(*—r‘ / d A /( =
Answers x(x - 3) = 10 )(“‘\LZ ( = z- 0‘4 /("’5 5 T Ut

A. The solution set is { G X ()/l ('f gdh%

(Simplify your answer. Type an exact anm Cémma to separate answers as ne t/ 5 ID
F e

ID: 4.6.17-Setup & Solve Z)/)( ‘/ (U)//(’j)

[O)pz_/ ¢(L}5(\ZL—3) =/ T¥7 A/?(til e
éc/)( 2) ‘/’écf)(~g) - b

24D ’f/v@/\ o
Loo(s)~+ Coy($=3) =7 T79((7¢) 7
(/05/5/ 7 (%’/)/2)
C?N// Oz/w/

o)
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22,/ Solve the following exponential equation. Expres@ nal solutions in exact form and as a decimal rounded

~ three decimal places. X—-T X—1) _
[/ s deomaipiaces. X~ ¥ (2579 - /Z/Z/b)/
P (ke (1) = el
What is the exact answer? Select the correct choice below and, if necassary fill in the answer,.box to complete your
g =17 < %fé (/ bi(1) - /C)
O A. Thesoqmaﬁetisé) ___J '&"’(/{) (2' ) [

(Simplify your answer. Type an exact answer.) ( Z - / G

4/-/)

What is the answer rounded to three dg¢cimal places? Select the correct choice belo and if necessary, fill in the

answer box to complete your choice. A/ 43/ —+ // / C ) .
ol
O A. Thesoltionsetis{ /). jh ( 2/

(Simplify your answer. an integer or decimal rounded to three decimal places as

needed.) . . 1 {6
N = At

(O B. There is no solution. 7 )

Answers A. The solution set is 4 6 \n}.(Sphfy your answer. Type an exact answer)

A. The solution set is { 6.000 b X - g o O o ‘x

(Simplify your answer. Type an integer or decimal ro“anded-_tg-;h_reedeclmal-places‘a?.'rieeded.)

ID: 4.6.41 Q(;Qf':) {// /

(O B. There is no solution.

$200 invested at 9% ogmpounde@a erl affer ape o@ 2 years
C O s Ay o)
After 2 years, the investment results in $ £ b ( /,,74 o Cr' r’

(Round to the nearest cent as needed)____f_t’)_(_;/j < /2 /’ d?)
<A 234 16C 7y ¥
e < /4 1&2 5?70?7 v /)C’CM’/

23. Find the amountthat results from thegwanlnvestment ﬂ d/ /——f/‘/ ) v\

Answer: 238.97

24, @e ha!f-hfe of carbon -14 6609 years. If a piece of charcoal made from the wood of a tree shows nly 67% of the <
carbon=14.expected in living matter, when did the tree die?

The tree died about 'ﬁj{ M‘v{/ears agé/—] /_L) _f/}&é/ /00 /L) SG(N j

othe earestwhole number)

(Do not round until the final answer. Then roun

__C,./—— - "{ ) -56cu ( é 7) /g(/%) I
Answer: 3235 - __“,;
VS _/}A,a w ( 1n) J/ A )

3647.”

ID: 4811

/6“( (7/ (_)//d-r(u//)'l/ 56“"‘@
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25. Find the real solutions of the equatlon , g [/ ( W/ ) 'l”‘ //
STl = A -
6+4/2x-9 =x e
Select the correct choice below and, if necessary, fill in the answer box to complete your answer.
(O A. The solution set is { }

(Simplify your answer. Use a comma to separate answers as needed.)
(O B. The solution is the empty set.

(Simplify your answer. Use a comma to separate answers-as needed.)

ID: A.8.55 (W) ({L)éfé(‘{w% :

2. X~ »(x () —¢/
Y-S =< /( —G— G L6

25 —9 t)(-é”/z/)("’/‘*
O< xS t—+3¢—t+3
O bt=/vdt “<

0= (X —(x— 9

)(/s'“: 01 X*?"f

Answer: A. The solution set is { 9 b >
T L
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